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True / False Questions
1. The mode is the measurement in a sample or population that occurs most frequently. 
True    False

2. The median is said to be resistant to extreme values. 
True    False

3. In a symmetric population, the median equals the mode. 
True    False

 
4. Range is a better measure of variation than standard deviation. 
True    False 

5. The pth percentile is a value such that (100-p) percent of the measurements fall at or below the value. 
True    False
  

 Multiple Choice Questions
 
6. In a statistic class, 10 scores were randomly selected with the following results were obtained: 74, 73, 77, 77, 71, 68, 65, 77, 67, 66
What is the median? 
A. 71.5
B. 72.0
C. 77.0
D. 71.0
E. 73.0
7. In a hearing test, subjects estimate the loudness (in decibels) of sound, and the results are:
                            68, 67, 70, 71, 68, 75, 68, 62, 80, 73, 68
What is the mode? 
A. 70
B. 75
C. 68
D. 71
E. 80

8. If the mean, median, and mode for a given population all equal 25, then we know that the shape of the distribution of the population is: 
A. Bimodal
B. Skewed to the right
C. Symmetric
D. Skewed to the left

9. If a population distribution is skewed to the right, then, given a random sample from that population, one would expect that the 
A. Median would be greater than the mean.
B. Mode would be equal to the mean.
C. Median would be less than the mean.
D. Median would be equal to the mean.
10. As a measure of variation, the sample _________ is easy to understand and compute. It is based on the two extreme values and is therefore a highly unstable measure. 
A. Range
B. Standard deviation
C. Variance
D. Interquartile range


11. Compute the sample standard deviation of the data set 6, 4, 2, 1, 4, 1. 
A. 1.83
B. 2.00
C. 1.41
D. 3.33
E. 4.00

12. A normal population has 99.73 percent of the population measurements within _____ standard deviation(s) of the mean. 
A. One
B. Two
C. Three
D. Four
13. Find the z-score for an IQ test score of 92 when the mean is 100 and the standard deviation is 15. 
A. 0.53
B. 0.77
C. -0.77
D. -0.53
E. -8.00
14. The average lateness for one of the top airline companies is 10 minutes. The variance of the lateness measure is calculated as 9. An airplane arrived 13 minutes after the stated arrival time. Calculate the Z-score for this particular airplane's lateness. 
A. 0.33
B. 0.58
C. 1.33
D. 0.44
E. 1.00
15. According to a survey of the top 10 employers in a major city in the Midwest, a worker spends an average of 413 minutes a day on the job. Suppose the standard deviation is 26.8 minutes and the time spent is approximately a normal distribution.
What are the times that approximately 68.26% of all workers will fall? 
A. [394.8, 431.2]
B. [386.2, 439.8]
C. [372.8, 453.2]
D. [359.4, 466.6]
E. [332.6, 493.4]
16. The local amusement park was interested in the average wait time at their most popular roller coaster at the peak park time (2 p.m.). They selected 13 patrons and had them get in line between 2 and 3 p.m. Each was given a stop watch to record the time they spent in line. The times recorded were as follows (in minutes): 118, 124, 108, 116, 99, 120, 148, 118, 119, 121, 45, 130, 118
What is the 90th percentile? 
A. 101
B. 112.8
C. 120
D. 130.5
E. 140.8
17. In a statistic class, 10 scores were randomly selected with the following results were obtained: 74, 73, 77, 77, 71, 68, 65, 77, 67, 66
What is the third quartile? 
A. 66
B. 67
C. 68
D. 74.5
E. 77
 

 

18. In a statistic class, 10 scores were randomly selected with the following results were obtained: 74, 73, 77, 77, 71, 68, 65, 77, 67, 66
What is the IQR? 
A. 12.00
B. 5.25
C. 10.25
D. 5.00
E. 11.00

 

19. In a statistic class, 10 scores were randomly selected with the following results were obtained: 74, 73, 77, 77, 71, 68, 65, 77, 67, 66
What are the fences? 
A. 67, 77
B. 57, 87
C. 37.125, 107.825
D. 51.375, 92.375
E. 47.5, 96.5
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